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3XML�V\XNXU�NHKDGLUDW�$OODK�6:7�DWDV�UDKPDW�GDQ�KLGD\DK�1\D��VKDODZDW�

VHUWD�VDODP�NHSDGD�EDJLQGD�EHVDU�1DEL�0XKDPPDG�6$:��VHKLQJJD�SHQXOLV�GDSDW�

PHQ\HOHVDLNDQ� 7XJDV� $NKLU� \DQJ� EHUMXGXO� ³.HQGDOL� 3HUJHUDNDQ� -DUL� 7DQJDQ�

3URVWHWLN�0HQJJXQDNDQ�6LQ\DO�(0*´�LQL��7XJDV�$NKLU�LQL�GLVXVXQ�SHQXOLV�VHEDJDL�

VDODK� VDWX� V\DUDW� GDODP�PHQ\HOHVDLNDQ� 3URJUDP� 6WXGL� 6WUDWD �� 7HNQLN� (OHNWUR��

)DNXOWDV�7HNQLN�(OHNWUR��8QLYHUVLWDV�7HONRP�

'DODP� SHQ\XVXQDQ� ODSRUDQ� 7XJDV� $NKLU� LQL�� SHQXOLV� PHQ\DGDUL� DWDV�

NHWLGDNVHPSXUQDDQ�EHUXSD�NHNXUDQJDQ�EDLN�GDODP�DVSHN�NXDOLWDV�PDXSXQ�NXDQWLWDV�

SHQXOLVDQ�GDQ�PDWHUL�\DQJ�GLVDMLNDQ��KDO�WHUVHEXW�VHPDWD�PDWD�NDUHQD�NHWHUEDWDVDQ�

GDUL�SLKDN�SHQXOLV��2OHK�NDUHQD� LWX��SHQXOLV�PHPEXWXKNDQ�NULWLN�GDQ�VDUDQ�\DQJ�

PHPEDQJXQ�GDUL�SDUD�SHPEDFD�GHPL�SHUEDLNDQ�7XJDV�$NKLU�LQL�NHGHSDQQ\D�

3HQXOLV�EHUKDUDS�NHGHSDQQ\D 7XJDV�$NKLU�LQL�GDSDW�PHPEHULNDQ�PDQIDDW�

EDJL�SHPEDFD�DJDU�GDSDW�GLNHPEDQJNDQ�GHQJDQ�OHELK�EDLN�ODJL�
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